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Week 1 online OLAT quiz
60% participation

Who are you ?

biology
bio-medicine
bio-diversity
other

Question
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Are you taking MAT 182 ?

\[e)
Undecided

I I
10% 20% 30% 40% 50% 60% 70% 80%
% Participants

T T T T I | | |
10% 20% 30% 40% 50% 60% 70% 80% O What's an integral ?
% Participants

v . . . : ‘ : : :
10% 20% 30% 40% 50% 60% 70% 80% 90%
% Participants




Unanswered Right

A unit vector has a magnitude of zero.
if a particle is moving at a constant velocity, the slope of distance vs. time will be zero.
the position of a simple harmonic oscillator repeats in a time of Z—J

On the moon, a metal ball and a feather thrown from one astronaut to another would have the same parabolic
motion.

The acceleration of an object moving in a circle points in the same direction as the velocity.

Unanswered

A unit vector has a magnitude of zero.

if a particle is moving at a constant velocity, the slope of distance vs. time will be zero.

the position of a simple harmonic oscillator repeats in a time of lwﬁ

On the moon, a metal ball and a feather thrown from one astronaut to another would have the same
parabolic motion.

The acceleration of an object moving in a circle points in the same direction as the velocity.

Questions all at least
70% correct
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